

## Husky House Monthly Rates 2024-2025 School Year Program: Early TK

GRADE	TIME	MONTHLY TUITION: BASED ON DAYS SCHEDULED PER WEEK AND A 4.34 WEEK MONTH
Early TK: Before School	7:30am-8:15am (0.75 Hour)	1 day: \$43 2 days: \$86 3 days: \$129 4 days: \$172 5 days: \$215
Early TK: After School	11:45am-2:45pm (3 Hours)	1 day: \$173 2 days: \$346 3 days: \$519 4 days: \$692 *This pick up time is <u>not</u> an option on Wednesdays. This time block is intended for older siblings to pick up their TK & K siblings after school dismissal.
Early TK: After School	11:45am-4:30pm (4.75 Hours)	1 day: \$273 2 days: \$546 3 days: \$819 4 days: \$1,092 5 days: \$1,365
Early TK: After School	11:45am-6:00pm (6.25 Hours)	1 day: \$359 2 days: \$718 3 days: \$1,077 4 days: \$1,436 5 days: \$1,795

#### Husky House Monthly Rates 2024-2025 School Year Program: Early K

GRADE	TIME	MONTHLY TUITION: BASED ON DAYS SCHEDULED PER WEEK AND A 4.34 WEEK MONTH
Early K: Before School	7:30am-8:15am (0.75 Hour)	1 day: \$43 2 days: \$86 3 days: \$129 4 days: \$172 5 days: \$215
Early K: After School	12:45pm-2:45pm (3.75 Hours)	1 day: \$115 2 days: \$230 3 days: \$345 4 days: \$460 *This pick up time is <u>not</u> an option on Wednesdays. This time block is intended for older siblings to pick up their TK & K siblings after school dismissal.
Early K: After School	12:45pm-4:30pm (3.75 Hours) Weds: 11:45am-4:30pm (4.75 Hours)	1 day: \$274 (For Weds.) / \$216 (Not Weds.) 2 days: \$489 (with Weds.)/ \$431 (No Weds.) 3 days: \$705 (with Weds.)/ \$647 (No Weds.) 4 days: \$921 (with Weds.)/ \$863 (No Weds.) 5 days: \$1,136

Early K: After School

12:45pm-6:00pm (5.25 Hours) Weds: 11:45am-6:00pm (6.25 Hours) 1 day: \$360 (For Weds.) / \$302 (Not Weds.) 2 days: \$662 (with Weds.)/ \$604 (No Weds.) 3 days: \$964 (with Weds.)/ \$906 (No Weds.) 4 days: \$1,266 (with Weds.)/ \$1,208 (No Weds.) 5 days: \$1,568

Husky Hou	2024-2025 School Year Program: Late TK	
GRADE	TIME	MONTHLY TUITION: BASED ON DAYS SCHEDULED PER WEEK AND A 4.34 WEEK MONTH

	1 11412	AND A 4.34 WEEK MONTH
Late TK: Before School	7:30am-9:15am (1.75 Hours)	1 day: \$101 2 days: \$201 3 days: \$302 4 days: \$403 5 days: \$503
Late TK: After School	12:45pm-2:45pm (2 Hours)	1 day: \$115 2 days: \$230 3 days: \$345 4 days: \$460 *This pick up time is <u>not</u> an option on Wednesdays. This time block is intended for older siblings to pick up their TK & K siblings after school dismissal.
Late TK: After School	12:45pm-4:30pm (3.75 Hours) Weds: 11:45am-4:30pm (4.75 Hours)	1 day: \$216 2 days: \$431 3 days: \$647 4 days: \$863 5 days: \$1,078

(4.75 Hours) 5 days: \$1,078

12:45pm-6:00pm 1 day: \$302
2 days: \$604
3 days: \$906
4 days: \$1,208
(6.25 Hours) 5 days: \$1,510

### Husky House Monthly Rates 2024-2025 School Year Program: Late K



GRADE	TIME	MONTHLY TUITION: BASED ON DAYS SCHEDULED PER WEEK AND A 4.34 WEEK MONTH
Late K: Before School	7:30am-9:30am (2 Hours)	1 day: \$57 (For Weds.) / \$115 (Not Weds.) 2 days: \$172 (with Weds.)/ \$230 (No Weds.) 3 days: \$287 (with Weds.)/ \$345 (No Weds.) 4 days: \$402 (with Weds.)/ \$460 (No Weds.) 5 days: \$517
Late K: After School	2:00pm-4:30pm (2.5 Hours) Weds: 11:45am-4:30pm (4.75 Hours)  *2:45pm pick up time is not an option for Late K group	1 day: \$273 (For Weds.)/ \$144 (Not Weds.) 2 days: \$417 (with Weds.)/ \$288 (No Weds.) 3 days: \$560 (with Weds.)/ \$431 (No Weds.) 4 days: \$704 (with Weds.)/ \$575 (No Weds.) 5 days: \$848
Late K: After School	2:00pm-6:00pm (4 Hours) Weds: 11:45am-6:00pm (6.25 Hours)	1 day: \$359 (For Weds.)/ \$230 (Not Weds.) 2 days: \$589 (with Weds.)/ \$460 (No Weds.) 3 days: \$819 (with Weds.)/ \$690 (No Weds.) 4 days: \$1,049 (with Weds.)/ \$920 (No Weds.) 5 days: \$1,279

# Husky House Monthly Rates 2024-2025 School Year Program: Grades 1st-5th



GRADE	TIME	MONTHLY TUITION: BASED ON DAYS SCHEDULED PER WEEK AND A 4.34 WEEK MONTH
Grades 1st-5th: Before School	7:30am-8:15am (0.75 Hours)	1 day: \$43 2 days: \$86 3 days: \$129 4 days: \$172 5 days: \$215
Grades 1st-5th: After School	2:45pm-4:30pm (1.75 Hours) Weds: 1:45pm-4:30pm (2.75 Hours)	1 day: \$159 (For Weds.)/ \$101 (Not Weds.) 2 days: \$259 (with Weds.)/ \$201 (without Weds.) 3 days: \$356 (with Weds.)/ \$302 (without Weds.) 4 days: \$461 (with Weds.)/ \$403 (without Weds.) 5 days: \$561
Grades 1st-5th: After School	2:45pm-6:00pm (3.25 Hours) Weds: 1:45pm-6:00pm (4.25 Hours)	1 day: \$245 (For Weds.)/ \$187 (Not Weds.) 2 days: \$432 (with Weds.)/ \$374 (No Weds.) 3 days: \$619 (with Weds.)/ \$561 (No Weds.) 4 days: \$806 (with Weds.)/ \$748 (No Weds.) 5 days: \$993